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//——— 2AN1° T1R "M2110 1179D0 ORN ———
public boolean isLonger (Pencil other)

{

public bool IsLonger(Pencil other)
{

return this.length > other.length; } return ( -length > other.length);
}
//——— 2T7T1MN0 "O21n0 117900 OR0 ——— public bool Issharpened()
public boolean isSharpened() {
{ return sharpened == true;

return this.sharpened; }
}

52" "nR7 "'y Ano3
pencill | pencil2 | pencilel.isLonger(pencil2) pencol2. Vo9
&& isSharpened()
pencoll.isSharpened()
| F&& T — false false pencil2 needs to be sharpened

Pencil Pencil
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//——— 0 =% 211770 n& PuUnxnn "RI1d ———
public Doctor (String name, String specialization)
{
this.name = name;
this.specialization = specialization;
this.rate = 0;

/=== TIUN1 X917 2?2 20 1171770 DX NID2TUnn nN?1U09 ——-—
public static void doctorRating (Doctor[] doctors)
{

System.cut.print ("enter rates —--»> "):
for (int i = 0 ; 1 < doctors.length ; i++4)
if (doctorsl[i] !'= null)
doctors[i] .setRate(calcRate() ) ;
H
f/——— ¥D177 11N I1E0 NI127U00 NN ng21@ga 2108 ———
/=== 120 2117170 NE QTN ———
public static double calcERatel()
i
int sum = 0, count = 0;
int rate = input.nextInt():;
while (rate != -1}
i
sum += rate;
count ++:;
rate = input.nextInt();
H
if (count == )
return 0;
return (double) sum/count;
}
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public Doctor(string name, string specialization)
{
this.name = name;
this.specialization = specialization;
.rate = 0;

//D7u¥Innn '8%7 1171°7Tn NXR TIUN] N1DTUN N21D9
public static void DoctorRating(Doctor[] doctors)

{
int rate, sum, count;
double avg;
for (int i = @; i < doctors.Length; i++)
{
sum = @; count = @;
rate = int.Parse(Console.ReadlLine());
while (rate != -1)
{
sum = sum + rate;
count++;
rate = int.Parse(Console.ReadlLine());
¥
avg = (double)sum / count;
doctors[i].SetRate(avg);
}
}
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N
S == TN 1'END D1EnR1 TIUn NPapna n?iug —---
£ = NATMR POT 1171170 12'°® K17 71T DIEN2 12 80 O NNy a1 T7mm1 ———
S = 0110 11'M'A1 12XNON 0771217 ®i D1230D0 131°® X190 11771170 1318 ——-—
public static boeolean isEgquallItem (int [] arr, int p)
{
return sumleft{arr, p) == sumRight(arr, p)-
}
//——— D12D nx N0 TUR1 DIER1 T1UR NPapna n?ivs ——-
S — (2912 X?) 1728 T aYOnaamn o'atEn ——-—
public static int sumbeft(int [] arr, int p)
{
int sum = 0;
for (int 1 = 0 ; 1 < p ; 1i++4)
sum += arr[i]:
return sum;
}
//——— D12D n® N0 TUR1 DIER1 T1UR NTapna neivs ——-
S == 910N TU 17MXD 12ATRAN DT3RO ———
publie statie int sumRight (int [] arr, int p)
{
int sum = 0;
for (int i = p+l ; 1 < arr.length ; 1++4)
sum += arr[i]:;
return sum;
}
Nl
//——— DOM® Rm1 1171170 TUn R®K10 TOURD OXR NNE AT Tmna 0?2109 ———
public static boolean isEqualiZrray (int [] arr)
{
int 1 = 0;
while (i < arr.length)
{

if (isEquallItem({arr, 1i})
return true;
i+4;
H

return false;
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// X RT3 nYxw 117N9
//RW N?IDIN N TIM DOmR 117110 12 '8 X100 N7 place Natxn DR nnE N0 TN 17109
public static bool NumEqual(int[] arr, int place)

{
int sumLift = @, sumRight = ©9;
for (int 1 = @; 1 < place; i++)
sumLift = sumLift + arr[i];
for (int i = place + 1; i < arr.Length; i++)
sumRight = sumRight + arr[i];
return sumLift == sumRight;
¥
// Qe 3 N7R0 117N9

//OPD TN DATR 117110 RN TIUNN DR NNR NN TN N2119
public static bool ArrayEqual(int[] arr)
{

int ¢ = 0;

for (int 1 = 8; i < arr.Length; i++)

if (NumkEqual(arr, 1))
C++;
Console.WriteLine(c);
return ¢ > ©;
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/[ ——— D'N20 D'190N 20 NMOO@ N2apnn N2109 ——-—
//-—— D 190NN NX N12'D27INN N1180 20 N@@ AT ni ---
-9 q9unn D21 N'21W V'91IN 90N 2D DI1°DA --—-

P -

public static Node<Integer> buildNumbers (Node<Integer> 1lst)

{
Node<Integer> nLst = new Node<Integer> (999); // anT N Yan

Node<Integer> pos = nLst;

int num;
while (1lst != null)
{
num = lst.getValue():;
/[ ——— N 0712 190NN N1190 ND1Ddn ——-
//—=—— N3I1@XRT NITAXRD NIYDO D ,T19n 1TDA ——-
—— NJ1TR NNIUNON DN N190N ——-

while (num != 0)

{
pos.setNext (new Node<Integer> (num%10));
num = num / 10;
pos = pos.getNext ()

}

pos.setNext (new Node<Integer>(-9));
pos = pos.getNext ()
1st = 1lst.getNext():;

}
return nLst.getNext ()
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//--- D*190DN NX N121'27INN N1190 20 NOIW A TUANT ---
[/--- -9 190NN N2A1 N*21W D'9IN 190N 2D D1'DA ---

public static Node<int> BuildNumbers(Node<int> 1lst)
{

Node<int> nLst = new Node<int>(999); // nnT Nt
Node<int> pos = nlLst;
int num;

while (1st != null)

{
num = lst.GetValue();
//--- AN ®1? 190NN N1190 NDIDN ---
//--- N11O0XY N1TUXRN NI9DW D , 190 1TDA ---
//--- NJ1MR N'NIYvNnoOn >N N19Dn ---
while (num != 0)
{
pos.SetNext(new Node<int>(num % 10));
num = num / 10;
pos = pos.GetNext();
}
pos.SetNext(new Node<int>(-9));
pos = pos.GetNext();
1st = 1st.GetNext();
}
return nLst.GetNext(); // TmTn ntUam o R2? Aanton
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//——— D"m?m D°790n 70 NODOD A1 TOR1 ———
public static Node<Integer> buildDigit (Node<Integer> lst)
{
Node<Integer> nLst = new Node<Integer> (-1);
Node<Integer> pos = nLst;

int num = 0, p = 0; J/ (NETUn TTOUn) 790N IN1ETh nidin 9nnin
int digit;
while (lst != null)
{
digit = lst.getValue():
if (digit != -9) /f——— 19Dn1 N EIm nn9n ———
{
num += digit * Math.pow(1l0, p);
B t+;
}
else //-—— "m211n 79DnA N179D 1n11 ———

{
pos.setNext (new Node<Integer> (num)) ;
pos = pos.getNext();

//——— npTUn 7T70n1 1gDha 21TnR ———

1st = lst.getNext():;
}

return nLst.getNext () ;
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//N11NIN NN 0712 0719000 IR DAY 0NN N17190 NI010 N1 TN N2109
public static Node<int> ListDigit(Node<int> list)

{
Node<int> pos = list;
Node<int> pos2 = null;
int x, num = @;
int p = 1;
Node<int> listDigit = null;
while (pos != null)
{
X = pos.GetValue();
if (x 1= -9)
{
num = num + x ¥ p;
p=p*1e;
}
else
{
if (listDigit == null)
{
listDigit = new Node<int>(num);
pos2 = listDigit;
}
else
{
pos2.SetNext(new Node<int>(num));
pos2 = pos2.GetNext();
}
num = @; p = 1;
}
pos = pos.GetNext();
}

return listDigit;
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/- 0'N20 0'790N 20 NT10WN N23aphDn N2109 ——-—
//-—— 172N P92W D1'ND D'IATNN 2D NN N7720N0 NUT1DUN 7T TN n?iv9n —--
f = D'NT D'I90n 2 ning? 20 Q¥ aomt "pieat ———

public static Stack<Integer> notInBlock (Stack<Integer> stk)
{
Stack<Integer> sTemp = new Stack<Integer>():;
Stack<Integer> nStk = new Stack<Integer>|();

int count = -1, num = -1;
//——— mriomnn ox021D 190NN ———
if (! stk.isEmptv())

i

num = stk.top():
count = 14
sTemp.push (stk.pop () ) ;

H
while (! stk.isEmpty())
{
if (stk.top() == num)
count ++;
else
{
f == 123N 2 2T 11" NTI0nN0 DuE1310 190na ——
if (count == 1)
nStk.push (num) ;
num = stk.top():s
count = 1;
H
sTemp.push (stk.pop());
H
//——— 117mRn 12w 21900 ———
if (count == 1)
nStk.push (num) ;
//——— M*10MM°? D28 NATAN ———

while (! sTemp.isEmpty())
stk.push (sTemp.pop () ) :

return nStk;
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public static Stack<int> NonBlock(Stack<int> s)

{
Stack<int> s2 = new Stack<int>();
if (s.IsEmpty())
return s2;
int x = s.Pop();
int ¢ = 1;
while (!s.IsEmpty())
{
int y = s.Pop();
if (x ==y)
C++;
else
{
if (¢ == 1)
s2.Push(x);
c =1;
}
X =Y;
¥
if (¢ == 1)
s2.Push(x);
return s2;
}
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/== 070 790Nn1 *AHIT1 FU NYPaEnn n?iuvs ———
/= N'IND 071 "X¥O0N FU1 O'I132'8 N2 a1 1am1 ———
ff— 3 -1 On1H O'@emMnNm> o2 150N ? al1i1on ———
public static int countBRemains (BinNode<Integer> tree, int x)
{
if (tree == null)
return 0;
if (tree.getValue() % 3 == =)
return 1 + countRemains(tree.getlLeft (), =)
+ countRemains(tree.getRight (), =);:
return countRemains(tree.getlLeft (), =) +
countRemains(tree.getRight (), =);
}
//——— DONE ORD1 "117170 N1UORD FUY X100 FUN DR NnE notTmmn n2iuva ———

public static boolean isEgqualRemains (BinNode<Integer> tree)
{

int countl = countRemains(tree, 0);
int countl = countRemains(tree, 1);
int countZ = countRemains(tree, 2);
return countl == countl && countld == countl;
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//MTRp ®27 3 1 DTRIMNNOD PUI DTINYN 19DN A0 TN 2119
public static int CountMod3_@(BinNode<int> t)

{
if (t == null)
return 9;
else if (t.GetValue() % 3 == @)
return 1 + CountMod3_©(t.GetLeft()) + CountMod3_@(t.GetRight());
else return CountMod3_@(t.GetLeft()) + CountMod3_e(t.GetRight());
}

//1 n*xo 0D NTOCRD DU 3 1 OTRIUNNO FUQ DUNN¥N 1900 A1 TON N7109
public static int CountMod3_1(BinNode<int> t)

{
if (t == null)
return @;
else if (t.GetValue() % 3 == 1)
return 1 + CountMod3_1(t.GetLeft()) + CountMod3_1(t.GetRight());
else return CountMod3_1(t.GetLeft()) + CountMod3_1(t.GetRight());
}

//2 N"ARD 0D NTOTROD DU 3 1 DTRIUNNO FUQ DTNN¥N 190N A0 TTN N2119
public static int CountMod3_2(BinNode<int> t)

{
if (t == null)
return @;
else if (t.GetValue() % 3 == 2)
return 1 + CountMod3_2(t.GetLeft()) + CountMod3_2(t.GetRight());
else return CountMod3_2(t.GetLeft()) + CountMod3_2(t.GetRight());
}
//7pw N7 TAM DOTR 117110 NTORD PU XR10 PUN DR NNR N1° TN 02109
public static bool TreeEqual(BinNode<int> t)
{
return (CountMod3_@(t) == CountMod3_1(t) && CountMod3_1(t) == CountMod3_2(t));
}
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AND AL,00000001b
CMP AL.1
JE L1
AND AH,00000001b
CMP AH,1
JE L1
MOV DL, 1
JMP SOF
L1:
MOV DL.O
S0F:

1
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proc POW
push bp
mov bp,sp
mov al [bp+4]
mul al
pop bp
ret 4
endp POW
mov bx, offset ARR
mov cx,10
AGAIN:
push bx
call POW
cmp [bx].al
jne SOF
inc bx
loop AGAIN
mov [RANK],10
jmp exit
SOF:
mov [RANK],bl
EXIT:
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Client Manegment

string name - Client[] clients n-]l-;ﬁ?n*l.:, "N X

int id Trainer[] staff

Training(] visits

| Trainer

Training string name
int num bnt wid

Trainer t
int time

[
{ SpecialT
e

mphman mams .2

public class Manegment
{
private Trainer[] staff;
private Client[] clients;
public class Trainer
{
private string name;
private int wid;
public class Client
{ » .
private string name;
private int id;
Training| ] visits;

public class Training

Int num;
public class Special T Training 273N aPPNRN . PRI K¥K1 OTPWIR 1908

LI . . JIRT YW AN 2w 2N DX P

private Trainer train;
private int time;

W R 12°0MA — MPH2 MWD M"Y WY DIRK NOOWT (N2 WM XY ) Maem mwea
DONAMRIT 0 MW DR DN visits TWHE T, MPD YT DTN TR M PRt

public void Add(Training t) public void Add(SpecialT s)
d !
int1=0; mt1=10;
while (visits[i] != null) while (visits[i] != null)
i+t 'S
visits[i] = t; visits[i] = s;
} }
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public int SpecialTime()

{
int total = 0;
foreach(Training t in visits)

{
if(t!=null)
{
if (t 1s SpecialT)
total += ((SpecialT)t).GetTime(); // .vn *9% nwMon 77 YN
y

}

return total;
1
)

TR TN 132KNT MMPR Ana Amen Manegment Spnnn avwe LT

public int CountSpecialClient()
d

int count = 0;
foreach(Client ¢ in clients)

{
if(c!=null)

{
if (c.SpecialTime() > 0)
count+-+;
}

}

return count;

}
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mponn o'wAn X
Item ¥
Class
. Electronicitem v Fooditem ¥
Class Class
-+ item - ftem
| ItemDate v )i FoodRefrigerated
- Class - Class
i i - Fooditem

Item nphnna .2

public bool IsMissing()
{

return (quantity < minQuantity);

DORNAT MY temp TMYIDALI DX MAX TN 712w a0 FoodRefrigerated  nipbnna

public bool SuitableTemperature(int temp)

{
}

return (temp<=maxTemperature && temp>=minTemperature);

nwpnn Ao Ak o1 Item  mpbmma

public bool CanBeStored( int temp)

{
if (this is FoodRefrigerated)

return ((FoodRefrigerated)this).Suitable Temperature(temp);

else
return true;

! SR R8573
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